VW ID. Buzz Cargo
Smartfloor Front Module 2SLD

Installation Manual

Manual 15023963_A

Loyds Industri AS - 2023-01-30



Revision Record

Rev nr

Date

Page

Picture

Update

New

Deleted
steps

2023-01-30

A

\Q/ Use colors when printing this installation manual. / Ved utskrift, bruk farger.

=
=
=







15023270 Front Module 2SLD

Number | Quantity | Part Number Definition
A 1 15022783 FD2 Front Drawer W600 L750 Assembled AS ALU
B 1 15023278 Flooring Kit Front M. SF ID Cargo ASSY
C 1 15023279 Bracket Kit Front M. SF ID Cargo ASSY
#1 1 15023280 Bracket Fitting Kit FM. SF ID Cargo ASSY




15023279 Bracket Kit Front M SF

Number | Quantity | Part Number Definition
D 4 15018460 Bracket Latch Inner 8mm ASSY
E 1 15022473 Bracket Front Left ID Buzz SF 2020 ASSY
F 1 15022467 Bracket Front Right ID Buzz SF 2020 ASSY
G 1 15023268 Rear bracket R, FM ID Cargo ASSY
H 1 15023267 Rear bracket, L, FM ID Cargo ASSY




#1 15023280 Bracket Fitting Kit FM. SF

A1

15003551 M6x16 TX30 pan (DIN 7985)

A2

4,2x16 FLS Platescrew selfdrilling E45759 Black




15023278 Flooring Kit Front M. SF

Number | Quantity | Part Number Definition
I 1 15023264 Floor Front SF ID Buzz ASSY
J 1 15023273 Floor Vertical, SF, FM ID.C
K 1 15023274 Floor Angle, SF, FM ID Cargo
#2 1 15023277 Floor Fitting Kit FM. SF ID Cargo




#2 15023277 Floor Fitting Kit FM SF

x4

x4

!

A3

15016947 Screw 4,8x25 Selfdrill Counters Torx Elz

A4

15005497 Latch Cup Black @90 @12x15 1000Kp

A5

15005884 Washer Latchcup for @8

A6

15004713 M8x50 screw, 6K DIN 933 Black, EIZn+Cr3

A7

13x20x6,4 Spacer, U-709

A8

13x20x10 Spacer, U-710

A9

4,2 x 13 S Plateskrue Flathode Svart




1501036 Handle Assy (x2)

Number | Quantity | Part Number Definition
1 15009441 Handle Tube 25x15x286
2 15009442 Spacer @8,3x18x30 Nylon Black
T 2 15009443 Spacer @8,1x13x6mm Galv
2 15009444 Screw M8x50 Cylinderh Hex
2 15009438 End Plug Tube 25x15 Inside
U 2 8 NMU Mutter M8 nyloc DIN985
\Y 2 8,4x17x2 M8 Washer, DIN 125




10



11




L ——

o

s

WL

12




13



14






F;/

— \‘!!'!—-—
R

PR S —— €
e — s~ A )
= = 2 K
=7
A —
<7 / v
\§‘ g
// =S
/) 2
// ]

16



PR =

v L
o —

,,

!

e A [

) |

\(C]
Vo

L E

17



